64b-2tlc-avf-eth-12bd 2 3.5 09 0.2 .8 .0
64b-2tlc-eth-12xcbase NT 4.9 £ 0.3 5.2 £ 0.3 +5.9 £ 10.0
64b-2tlc-dotlqg-12bdba NT 3.0 £ 0.5 3.2 £+ 0.8 +4.8 + 31.4
64b-2tlc-dotlg-12xcba 16.2 + 0.1 14.9 = 1.7 15.6 £ 0.1 +4.7 £ 11.8
64b-2tlc-ethip4udp-ip 9.1 £ 0.2 8.8 = 0.0 9.2 £ 0.1 +4.3 £ 0.9
64b-2tlc-ethipd4udp-ip 11.0 * 0.1 8.8 = 0.0 9.1 £ 0.1 +4.0 % 1.0
64b-2tlc-avf-dotlg-12 NT 13.0 = 1.5 1.5 == 0,2 | 3.9 3= 12,2
64b-2tlc-eth-12bdbase 18.3 + 0.2 17.3 £ 0.7 18.0 =+ 0.1 +3.8 = 4.2
64b-2tlc-avf-dotlqg-ip NT 18.5 = 3.0 190l z= O | R332 3= 6.7
64b-2tlc-dotlg-12bdba 5.4 £ 0.1 5.0 £ 0.2 5.2 £ 0.2 +3.2 £ 6.2
64b-2tlc-avf-ethip4-i NT 20.8 £ 3.7 21.4 £ 0.2 +2.9 + 18.1
64b-2tlc-eth-12bdscal 11.6 = 0.1 10.2 = 0.1 10.5 £ 0.0 +2.6 = 0.8


https://plot.ly/

